

Due to an algebraic error, the following corrections should be made:

(1) In Equation (14) $\beta_{\xi}^{(1)}$ should read:

$$\beta_{\xi}^{(1)} = -64\xi [3\pi^2(1 + \epsilon^2)]^{-1} \tilde{J} + 64v\epsilon^2 [3\pi^2(1 + \epsilon)^2(1 + v^2)]^{-1} (I - \tilde{I}).$$

(2) Equations (18a) and (18b) must be *deleted*. Equations (18c, d, e), (19c), (γ) should be renumbered as (18a, b, c), (19g), (η) and notations $Y_{*}^{(3)}$, $Y_{*}^{(4)}$ should be changed to read $Y_{*}^{(1)}$, $Y_{*}^{(2)}$.

(3) The following equations should be *added* to Equations (19a, b):

(γ) $(\lambda_2, u, v, g_2, \epsilon, \xi) = (\lambda_2, 0, 0, 0, 0, 0) \in \mathcal{N}_0 = \{Y|_{h=0}\}$ (i.e., λ_2 irrelevant):

$$\mathcal{L}(Y_{(3)}^*) = |\nabla_{\mu}\varphi|^2 + i\bar{\psi}\not{\partial}\psi + T_C(4N\mu)^{-1}(\bar{\psi}\psi)^2, \quad \varphi^*\varphi - N\mu/T_C = 0. \quad (19c)$$

(δ) $(\lambda_2, v, w, \epsilon, \xi) = (\lambda_2, 0, 0, \epsilon \neq \pm 1, 0) \in \mathcal{F}_0 = \{Y|_{u=h=0}\}$ (i.e. λ_2 irrelevant):

$$\mathcal{L}(Y_{(4)}^*) = |\nabla_{\mu}\varphi|^2 + i\bar{\psi}\not{\partial}^{(\epsilon)}\psi, \quad \varphi^*\varphi - N\mu/T_C = 0, \quad \bar{\psi}\varphi = \varphi^*\psi = 0. \quad (19d)$$

(ϵ) $(\lambda_2, g_1, w, \epsilon, \xi) = (\lambda_2, 0, 0, \epsilon = 1, 0) \in \mathcal{F}_0$ (i.e., λ_2 irrelevant):

$$\mathcal{L}(Y_{(5)}^*) = \mathcal{L}(Y_{(4)}^*)|_{\epsilon=1}. \quad (19e)$$

(ζ) $(\lambda_2, v, g_2, \epsilon, \xi) = (\lambda_2, 0, 0, \epsilon, 0) \in \mathcal{F}_0$ (i.e., λ_2 irrelevant, ϵ arbitrary):

$$\mathcal{L}(Y_{(6)}^*) = |\nabla_{\mu}\varphi|^2 + i\bar{\psi}\not{\partial}^{(\epsilon)}\psi, \quad \varphi^*\varphi - N\mu/T_C = 0. \quad (19f)$$

Note also that in the expression for $\beta_w^{(1)}$ in Equation (14) there is a missing *minus sign* in front of the first term on the right-hand side.

(Received May 25, 1984)